
Jerry Greer's Engineering - 1940 Chief - Air Cleaner

Ref Part # Qty Description Price

Page 1               Created On: 04/28/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Air Cleaner

Ref Part # Qty Description Price

1 166001 1 AIR CLEANER, gasket, backing plate, foam element and Chrome Plated cover $125.00

2 341002 1 AIR CLEANER COVER, ; Chrome Plated $100.00

3 101949 1 AIR FILTER, foam element for Standard air cleaner(166001) $30.00

4 655004 1 AIR CLEANER BACKING PLATE, ; Cad Plated $30.50

5 45014 1 SCREW, 1/4''-20 X 1''(Oval Head) $0.75

6 JG-3137 1 GASKET, fits between air cleaner and carburetor $5.00

7 JG-3246 1 AIR CLEANER WASHER, tooth lock for cover screw, sold separate from air cleaner $3.00

8 JG-2758 1 FASTENERS, attaches air cleaner backing plate to "Schebler" carburetor $3.50

9 102433 2 SCREW, #10-24 X .500''(Fillister Head), Cad Plated $1.00

10 922004 2 WASHER, #10 Split Lock; Cad Plated $0.75

11 JG-2463 1 FASTENERS, attaches air cleaner backing plate to "Linkert" carburetor $7.50

12 751507 4 SCREW, #12-24 X .500''(Fillister Head) $1.25

13 922005 4 WASHER, #12 Split Lock; Cad Plated $0.75

Page 2               Created On: 04/28/2024 - Copyright 2024 Jerry Greer's Engineering


